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• Several per year in the Mediterranean region

• Typically develop under deep, cold cut-off cyclones aloft

• Locally large air-sea thermodynamic disequilibrium
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D�E: Isothermal expansion E�R: Adiabatic expansion R�R¶: Isothermal compression R¶�D: Adiabatic compression
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−
≅ −

Pmin using the gradient-wind relationship
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• ��$�1�,�$0-

– ���-
Sea surface temperature (0C)

– 	����-
Minimum central pressure (hPa) achievable by the cyclone                              
according to air-sea interaction theory

– 	��G�-
Maximum wind speed (m/s) achievable by the cyclone                      
according to air-sea interaction theory, or potential intensity

– ������- Probability density of genesis (no units) according to the     
empirical tropical index 
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– 	���-
Mean value

– A�'�-
25% percentile value

– A�F�-
75% percentile value

– �A�-
Inter-quartile range (QT75-QT25)

– ����C 
����' 
����! 
����B-
Number of days over thresholds 1, 2, 3, 4

– G�0,�$#
��5�%#-
Histograms for the bulk of the western Mediterranean 

– ��#,$��
��5�%#-
………………………………… central Mediterranean

– ��0,�$#
��5�%#-
………………………………… eastern Mediterranean
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0+�#�$�%-
Sea level pressure (hPa) and 500 hPa Geopotential height (m)

– J�$%.�+��K
2��5#%0�0-
SST, MINCP, MAXWS and GENPDF fields
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